Ratio

g

*®15-8

-6 -4-20 2 4 6 8 10

[ pull of goverp parameter

107!

1072

n

(=

G Bev
o Constant

ean

Iama

t

0.95,

&

-10-8 -6 -4 -2 0

2 4 6 8 10

[ pull of @parameter |__

res

107 =

'[e oy 0.0
onstant _8.

.................

e ”e:v 0.0928%
onstant 8 13
_ B

ér\es
10_3 ? z:jt%\rqt %éﬂ
10"45—
o o |
A o |
F P i e
0% 6 -4 20 2 4 6 8

L0 -8

[ pull of dxy parameter

107

o +vf :
¢ r .
@ L ak
1:’ s 4 -0
: =
EETE N A N R )

=10 -8

[ pull of 6 parameter |

107}

1072

1073

10™ E
O L.Vd-l N N
= r : :
& r S :
N !
[ i :

[ pull of dz parameter

BT 6 4 3 0 7 4 6 8§ 10

107}

1072

TEFUUUE

e

Lok
LR
&
+

‘“‘l“..li--.-i----l

.

0B =6 4 -2

0 2 4 6 810



	Contents
	Page 1


